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1. (10 pointz) When iz the concept of weak enfity used in data modeling? Defme the terms
owner entity type, weak enbityiype, identifying relationship type, and partial key

2. (10 points) Why the tuples in a relation are not ordered?

3. (10 points) A PARTS file with Parie as the key field includes records with the following
Part# values: 42, 23, 76, 13, 3, 32, 38, Suppose that the search field values are mserted in
the given order in a B-tree of order p=3; show how the tree will expand and what the final
tree will look hike.

4. (10 points) Draw a state diagmam and discuss the typical states that a transachon goes
through during execufion.

5. (10 points) How does stnct imestamp ordering differ from basic tmestamp ordenng?

6. (10 points) Prove that the basic two-phase locking profocel guarantees conflict
zerializability of schedules.

7. (10 points) What iz a join dependency? What type of constraint does it specify?

8. (10 points) What is the combined definition of 2NF and 3NF?

©. (10 points) What 1= the difference between INWNER. JOIIN and OUTER. JOIN?

10. (10 points) Convert the following nested query to an equivalent non-nested queryin SQL.
SELECT EFNAME, ELNAME

FROM EMPLOYEE ASE

WHERE ESSNIN(SELECT ES3N
FROM DEPENDENT

WHERE ESEX=SEXAND
EFNAME=DEPENDENT NAME)







